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Analytic Geometry

GCO9 Addition Postulate, Parallel Lines Remediation

Name___________________________________  ID: 3

Date________________  Period____
©l V2m0`1I7r WKIuGtuaw pSTorfitKwJaLrBea fLgLeCh.` R pAvlolG wrwihghhEtasz urNeTsUeKrMvceGdg.

-1-

Solve for x.

1)  G J
H I

x + 21

1

3

2x + 29

A)  -6 B)  -10*
C)  5 D)  9

2)  C F
D E

x - 2

14

15

2x - 12

A)  -3 B)  -1

C)  9* D)  -5

3)  SCDm  = 22x + 5, BCDm  = 179°, 
and BCSm  = 6 + 2x.  Find SCDm .
 
D

S

BC

A)  159°* B)  128°
C)  147° D)  120°

4)  Find YQRm  if PQRm  = 19x - 1, 
PQYm  = 21°, and YQRm  = 17x - 6.

 
R

Y P

Q

A)  6° B)  142°
C)  130°* D)  8°

Find the measure of the angle indicated in bold.

5)  

16x-5 + 21x

A)  65° B)  80°*
C)  87° D)  55°

6)  

12x + 2

11 + 11x

A)  105° B)  110°*
C)  140° D)  100°
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7)  

x + 82

x + 112

A)  75°* B)  110°
C)  51° D)  130°

8)  

x + 127

x + 67

A)  95° B)  78°
C)  60°* D)  42°

Find the length indicated.

9)  Find BC

A D
B C

19

710

A)  3 B)  2*
C)  6 D)  4

10)  Find QS

P S
Q R

4

11

4

A)  10 B)  14

C)  9 D)  11*

11)  Find IHAm  if AHGm  = 30x - 2, 
IHAm  = 14x + 4, and IHGm  = 178°.

 

G

A

I

H

A)  43° B)  60°*
C)  42° D)  70°

12)  VLMm  = 70 + x, KLMm  = 127°, 
and KLVm  = x + 67.  Find KLVm .
 

M
V

K L

A)  38° B)  4°
C)  -5° D)  62°*
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Find the measure of the angle indicated in bold.

13)  

x + 68x + 118

A)  95° B)  125°
C)  115°* D)  60°

14)  

14x - 1

12x + 17

A)  55° B)  125°*
C)  70° D)  40°

15)  

11x - 7

9x + 7

A)  75° B)  55°
C)  70°* D)  80°

16)  

38x - 1

37x + 1

A)  65° B)  75°*
C)  121° D)  60°


